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gTHT ﬁ%ﬂ (General Instruction)

>

>

CRDI&'H%]T JYMEHT 30+ Teal H IR < (Examinee write answer in their own
words as far as practicable.)

Pl Ui DI TBAT 48 %I (The total number of questions are 48)

gy U P IR Wel H Ui fvar a1 31 ude We ¥ AR W
GTIEIHTQC%I(The question paper is divided into four sections. It is mandatory to
answer each section as per the instructions.)

TE -A H Uy AT 01 ¥ 25 TP Jgladdd U &1 TS Y & AU 1 3
Fuffkd 8 | 7% Uy & IR fawe 33 T § | 96t fadew &1 997 Sifo | 7o
IR & o P13 3 8! BIC ST | (Question numbers 01 to 25 in section-A

are multiple choice questions. Each question carries 1 mark. Four options are
given for each question. Choose the correct option. No marks will be
deducted for the wrong answer.)

TS -B H UY =T 26 T U WA 34 TSI Uy g1 378 ¥ fg! 91d
Ol & IR BT Th aid H STl UdS Uy T 0 1 3w Fuila g

(Section-B contains very short answer questions from question number 26 to

question number 34. Answer any seven of these questions in maximum one

sentence. Each question carries 1 mark.)
WS —C T U T 35 F U AT 42 IF TSN A 81 30 A frgl 6 Ui &
IR SHAHAH 150 sl A T Td® U &1 AF 3 3 FHeflRa B 1(Section-C

contains short answer questions from question number 35 to question

number 42. Answer any 6 of these questions in maximum 150 words. Each
question carries 3 marks.)

WS -DHUYTTAT43 A UY 48 T USRI UY &1 570 O fpgl IR UM &
IR B aH 250 Weal # ST AP U BT HM 5 3k YR §1(Section-D

contains long answer questions from question number 43 to question number

48. Answer any four of these questions in maximum 250 words. Each question
carries 5 marks.)




Section - A (TS -A)

1 Molarity of anaqueous solution
containing 40g of NaOH in two litre of
solutionis

(A) 05
G 15

(B) 1.0
(D) 0.75

dry ether | CH;-CH; +
2NaBr.

2 2CHs3Br + 2Na
The reactionis:

(A) Friedel crafts reaction
(B) Wurtz reaction

(C) Fittig reaction

(D) Wurtz Fittig reaction

3 When aqueous solution of NaCl is
electrolysed the product obtained at
cathode is

(B) Sodium metal
(D) Chlorine

(A) Hydrogen
(C) Oxygen

4 Which of the following is not a transition

element?
(A) Fe (B) Mn
(QCr (D) Zn

5 CH;3-CH,-Br + KOH (5 = ‘A’ . Here 'A’is

(A) CH,=CH;
(C) CH,=CH-Br

(B) CH3-CH,-OH
(D) CH;-CH;

6 Osmotic pressure of the solution can be
increased by

(A) increasing temperature of the solution

(B) decreasing temperature of the
solution

(C) increasing volume of the vessel

(D) diluting the solution

1 40g NaOH , 2 fefer Siefta faera & Iufia
g, faaua &) AeRar g :

(A) 05
G 15

(B) 1.0
(D) 0.75

2 2CHsBr + 2Na dry ether CH;-CH; +
2NaBr.
Tg Sffhan g -

(A) TS d e N
(B)@éﬂsﬁrm

(@) iﬁﬁig‘ i

(D) & fohte T Sffifehar

3 NaCl & STeiig faea & dggd siuege ¥
FUTS WUT BT g :

(A TRSIF  (B) HIf$TH UTq
(C) 3o (D)

4 TTHY D HHHUI I a1 § ?

(A) Fe
QCr

(B) Mn
(D) Zn

5 CH3-CHo-Br+ KOH oo > 'A’. T8 'A'%

(A) CH,=CH,
(C) CH,=CH-Br

(B) CH3-CH,-OH
(D) CH;-CH;

6 fITTT T IRIERUI 1§ T I YHT g -

(A) faTg &1 dUaH SgT R
(B) fAT@I ST AUHAF HH IR
(C) IS &1 3TAd §¢1 B
(D) fog &1 Figdr HH B




7 The molar conductivity of an electrolyte
Increases as :

(A) dilution increases

(B) temperature increases

(C) dilution decreases

(D) none of the above is correct

8 Aqueous solution of which of the
following ions is colourless ?

(A) T (B) V**
(O Crt (D) Sc**

9 The relative lowering of vapour pressure
in case of a solution of non-volatile
solute is equal to the mole fraction of
solute. The statementis based on:

(A) Henary'slaw  (B) Arrhenius law
(C) Raoult's law (D) Ostwald’s law

10 EMF of a cell with nickel and copper
electrode will be:
Given : E%*, v = -0.25V;
E°®*) cu = +0.34V

(A) 059V (B) 0.09V
(©)-059V (D) -0.09V

11 Electronic configuration of Cu®* is

(A) [Ar] 3d® 4s' (B) [Ar] 3d°4s°
(C) [Ar] 3d" 4s? (D) [Ar] 3d®4s°

12 Colligative properties of the solutions
depend on:

(A) size of the particle

(B) nature of the solvent
(C) number of the particles
(D) nature of the particle

13 For the half cell reaction
AQ'ag + € ------ 2 Aggs)

7 degdsuyed faqad &t HieR aradar &
Q@Eﬁ?ﬂ%\_ﬂ’

(A) TN H IS BN S
(B) AgHF H gfg Bl ®

(C) T H HH Bt §
(D) SWFd B N LRI 7 |

8 %ﬁ%ﬁmmmaﬁqu

(A) Ti** (B) V3*
(C) Cr* (D) Sc*

9 3TN faera 3G+ aTel f[aeia- & a9y
9 H 3(fére 3/aH fada & Ald-si &
JHUN 8T 8| I8 9 fw e &
SRR ?

(A) gt &1 e
(B) 3ReRTg &1 fuH
(C) A3ee HI A
(D) 3ReaTcE &1 g

10 dd YT SR Faide S a1t Ul BT EMF.

B
feag:

EONi2+/ Ni = ‘OZSV, EOCu2+/ Cu = +0.34V

(A) 059V (B) 0.09V
(©)-059V (D) -0.09V

0O\

11 Cu?* 3T HT FadeI-db (AN g :

(A) [Ar] 3d®4s’ (B) [Ar] 3d° 4s°
(C) [Ar] 3d" 4s? (D) [Ar] 3d®4s°

12 foaaa & 3 yH I Ui B § o
Pk T

(A)a?Uﬁ%%
(B) faeiras X
(C) BUN BT TATR
(D) HUT B UPHTd TR

13 298 K AU IR faU T IHia~ugg (3¢ Jd




electrode potential at 298 K will be :
Given: [Ag']=0.1 Mand E° = +0.80 V

(A) 0.741V
(©)-0.741V

(B) 0.859V
(D) 0.209V

14 Butan-2-olisa:

(A) 1° Alcohol
(B) 2° Alcohol
(C) 3° Alcohol
(D) dihydric Alcohol

OH

C:Hs0- .
> 'A'. Here 'A'is

CaHsl —————
Ml anhyd.C:HsOH

15.

(A) GoHs-O- GoHs
(C) CeHs-O- CeHs

(B) CeHs-O- GoHs
(D) CeHs-1

16. If the rate constant fora reactionis
k=1.5x1073 5!, what isthe order of the
reaction?

(A) Zeroorder

(B) First order

(C) Second order

(D) Third order

17. Which of the followingions shows the
highest magneticmoment?

(A)Fe?*

(B)Cr3*

(C) Mn2*

(D) Co*

18. The coordination numberand oxidation
state of cobaltin [Co(en),Cl,]*

(A)6and +2

(B)6 and +3

(C)4 and +2

(D)4 and +3

19. Which of the following complexes shows
opticalisomerism?

(A) [Co(NHs)el**

3fHferan) 3= fava g ;
AQ g + €
f&ar®: [Ag*1=0.1MandE° = +0.80 V

(A) 0741V
(C) -0.741 V

14 sge-2-3M1d g :

(A) 1° Tchigd
(B) 2° Teehlgd
(C) 3° TUchigd
(D) STEBTSIg Tchigd

(B) 0.859V
(D) 0.209V

OH

=ABY . A Tef AR
anhyd.CzH:;OH

(A) CHs-O- GoHs
(C) CeHs-O- CeHs

(B) CeHs-O- GHs
(D) CeHs-1

16. afe forsit siffohar &1 a7 RIS
k=1.5x10"3s™" g, I 3rfifshar &) Hife Fm8?
(A) I ife

(B) wyH Hife

(C) fedfig ife

(D) i ife

17. FofofEd & ¥ o9 1 3 Iy 3ifde
BT AT T 7

(A) Fe?*

(B)Cr*
(C) Mn?*
(D) Co?*

18. [Co(en),Cl,]* H Plalee ! IUTgTaS T
3R 3fTeRfienur 3rawyT o §7?

(A) 6 3R +2

(B) 6 3R +3

(C) 4 3R +2

(D) 4 3R +3

19. Fafifed & 9 &F W Aife yaur gHEdadn
aIfdr 87

(A) [Co(NHs)e*




(B) [Co(en)s]**
(C) [Ni(CN)4]*
(D) [PtCl,]*

20. The compound formed as a result of
oxidation of ethylbenzene by KMnQO, is :
(A) benzyl alcohol
(B) benzophenone
(C) acetophenone
(D) benzoic acid
21. Among the following which is strongest
acid ?
(A) CH;COOH
(B) HCOOH
(C) (CH3),CHCOOH
(D) CH3CH,COOH

22. Which one of the following is reduced
with Zn/HCl to give hydrocarbon ?

(A) ethyl acetate

(B) acetic acid

(C) acetamide

(D) butan-2-one

23. The strongest base in aqueous solution
among the following aminesis:

(A) N,N-diethylethanamine

(B) N-ethylethanamine

(C) N-methylethanamine

(D) ethanamine

24. Which of the following amines cannot be
prepared by Gabriel’s synthesis :

(A) butylamine

(B) isopropylamine

(C) 2-phenylethylamine

(D) N-methylbenzylamine

25. Glucose when reduced with HI/P gives:

(A) n-hexane
(B) n-heptane
(C) n-pentane
(D) n-octane

(B) [Co(en)s]**
(C) [Ni(CN)4]*
(D) [PtCl,]*

20. KMNO, & gRT 3URd d=i & SHTfidbror &
PBAaRy g aTe A 8 :

(A) STTSE Tepled

(B) ISt

(C) TG

(D) Seiigd 3w

21. Fgifra o yseay s g
(A) CH;COOH
(B) HCOOH
(C) (CH3),CHCOOH
(D) CH;CH,COOH

22. fgifed H o Zn/HCI 3 3/@axu TR
RSP BT 0T B ?

(A) 3URT T

(B) wHifess 3w

(C) TRIeHIZS

(D) $ge-1-311

23, Fifea & 1 W wiF oy fawe & yaaan
&RE ?

(A) N,N-SE3URagdMR=A

(B) N-3URASIHIE

(C) N-TrusagdamRa

(D) ST

24. Fgifed & ®F a1 wiiF Afud I=ewor gRT 6!
ST ST Gehall § ?

(A) STeTRETHH

(B) STSHMTTSITHI

(C) 2-BHSISUSATH

(D) N-FyRadsmgaud=

25. HI/P % GRT 3{AHR01 a3+ R b fAfda
hdl %:

(A) n-gIA

(B) n-gPH

(C) n-UeA

(D) n-3ifaed




Section B (ES -B)

Very Short Answer Type question
sfq g I Uead

26. Define Molality.
FArcterar &1 uRefta s |

27. Predict the ordes of the reaction in the given profile.

|

t1/2

[Ro] I

e o amctEr # sifHfbar @ @B FId ST

T

t]./2

[Ro] _— >

28. Which two series of elements are present in f- Block
f-iis & P A gl B Ioft JuRerT 2
29. What type of isomerism is shown by the complex  [Co(NH3)s][Cr(CN)e] ?
[Co(NH3)s][Cr(CN)s] ziget a1 fbar aze @t Fewawaar ol ot 2 2

30. Write the name of the reaction in which Alkyl lodides are prepared by the reaction of
Alkyl Chlorides/ Bromides with Nal in dry Acetone.

3 3ffdfar &1 o o, orad vfcwe smRiERsS! o ey Ofcsher aeiRigsl/ Sessr @t
ges THE F Nal @ Jmr sfdfsen 3 @ar 3

3 1. Which testis performedto distinguish between Primary, Secondary and Tertiary alcohols ?
URIE, fEdiee SR gdus siched @ did a7 B & 0T Dl AT UG BT ST & 2
32. What happens when Aniline is treated with bromine water ?
vellcier o9 sl oict 3 3ifdifhar wear & A T Bar B 2
33. Which Harmone maintains blood glucose level ?

DT AT AT T H ISP Bl AT i wRar &2



34. What happens when glucose is treated with bromine water?
FIT BT B Ofd IR Bl Sl ofcT @ AT Stk wed & 2

Section C (WS -C€)

Short Answer Type question
g I UL

Answer any Six question. Answer the question in maximum 150 word each.
Pl & ueall & 3R & | UAD Ueedl B IR 3AN&BdA 150 o@T F 1 [3X6=18]

35. Write the reactions of fuel cell
e A @t sifrfee ot
36. Calculate the Magnetic Moment of
(a) Fe3*(z=26) (b) Zn**(z=30) (c) Cu?*(z = 29)
gaamer 3mgel @t o FHifvTe |
(a) Fe3*(z=26) (b) Zn**(z=30) (c) Cu?*(z = 29)
37. Zn,Cd and Hg are not considered as Transition elements, explain giving reason.

PR 3d U AFSSA Zn, Cd and HE 1 JHAYT da@ T & AET 1|
38. Using IUPAC norms write the IUPAC name of

(@) [Mn(H20)6]?*

(b) [CuNO2)(Ch (NHa)4]

(c) Ks[Fe(CN)s]

IUPAC forar & areRiR Rreeiforira & et fora

(@) [Mn(H20)6]?*

(b) [Cu(NO2)(Cl) (NHs)4]

(c) Ks[Fe(CN)e]

39. Complete the following -

[a] QBF" Mg —

[b] CH,CONH, + Br,+4NaOH ——=

[l C.HNO, Fe/HCI

fresfoiRaa @1 g &3



[a] QBH Mg —

[b] CH,CONH, + Br,+4NaOH —»

[l CHNO, Fe/HCI

40. How will you bring about the following conwversion.
(@) Ethanamide to Ethanoic Acid
(b) Cyclohexanol to Cyclohexanone

(c) Benzene to Acetophenone

freaiforRaa uRader smu &F @t
(a) semeTss & SAATsd et
(b) ATsTRFAEIE A AT RTATA T
(c) ol & TACES
41. Write the IUPAC name of following compound.
(@) PhCoPh
(b) (CH3)3sCNH:

(c) m-BrCeHsNH2

ferearferRaa ABrdr & IUPAC et ot -

(@) PhCoPh
(b) (CH3)sCNHz
(c) m-BrCsHsNH2
42. What are essential and non-essential amino acid? Give examplees.

AAh deT 319D TGl 31T T ald & ? 32@0 Sifoiv |

Section — D (WS -D)

Long Answer Type question
e ITT gea

Answer any Four questions. Answer the questions in maximum 250 words each.
el IR yeddl & IaT | UAP ULET Bl 3aT 3MfbadA 250 =T H T




43. A 5% solution (by mass) of cane sugar in water has freezing point of 271 K. Calculate the
freezing point 5% glucose in water if freezing point of pure water is 273.15K.

IR B 5% (FTdE) ey awe & Baie 271 K 31 ARk gg &ia & e 273.15K.
2 dl o @ 5% el facee @ R @t o e

44. Write the Nernst equation and calculate emf of the following cell at 298 K.
Mgs) | Mg?*(0.001m) HH CU2*(0.0001m)ICU(s)
(Given E%mg2+mg=-2.36V E%cu2+/cu = +0.80V)
fraafciRaa At &1 eiee JehiaRor wd EMF &t ororer forsd
Mgs) | Mg?*(0.001m) 1l Cu2*0.0001m)ICUs)
(R arm E0wg2+mg=-2.36V E%cu2+/cu = +0.80V)
45. A reaction is first order in A and second order in B
(1 Write the differential rate equation.
(i) How is the rate affected on increasing the concentration of B three times.
(iii)  How is the rate affected when concentration of both A and B are doubled.
TP 3Mfsar A F ved dife g B F fafiwr @i o a3 3

(i) faees o1 Fimor forRaw |
(i) B @ Jhgam e I 9ot U JoT TR FAT YA USAT &
(i) A gar B Jelt @ Afgar et B U T U FAT YHG USAT 2|

46. On the basis of valance bond theory discuss the geometric and magnetic property of
K4[Fe(CN)s]
Adormar smdy Rigid @ smeR R Ks[Fe(CN)s] & wferditr der gaasir gporeat @t fadae
PifoTu |
47. Draw the structure of the following

(a) 1-Ethoxy propane 1-glRft Ue

(b)  o- Toluidine 0- it

(c) Ethylene glycol BASAI  IATSDIA

(d) 3- Bromo-4-phenyl pentanoic acid 3-FNA-4 -l eI CAISD 3T
(e) 0-Cresole o-ATA

48. Write short Notes on

(@) Cannizaro Reaction
(b) Reimer Tiemann Reaction
(c) Aldol Condensation

freaforRa w ag Rwoft forst

(a) Defiomrr i
(b) TR - aSde s
(c) UBIaT Jeeler
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